gralall a8 ) bl and
math 202.
Calculus 2.
First Exam

Date: Sunday 11/4/1433 H.
Time: from 20:45 to 22:15.
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Ine* = x for all x.
el = x for x > 0.
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QL.

lim,_,_, sinhx =

Definition and figure 1 page 255

(A) (B) ©) (D) (E)
0 1 -1 00 —00
Q2. Similar to problem 3, page 259
cosh(ln4) =
(A) (B) ©) (D) (E)
13 15 7 1 21
8 8
Q3. Similar to example 5, page 259
a 1 (i _
— (tanh™*(sinx)) =
(A) (B) (©) (D) (E)
— COS X —sinx — CSCX sec x tan x
Q4. Table of identities, page 255
csch?x — coth?x =
(A) (B) ©) (D) (E)
1 -1 0 e* e
Q5. Similar to problem 30, page 348
If f'(x) =9x%—-6x—8 and f(1) =2, then f(x) =
(A) (B)
3x3 —3x2—8x+ 10 3x3 —3x2—-8x—10
(©) (D)
9x3 — 6x>—8x +6 9x3 — 6x2—8x—6
Q6. Similar to problem 8, page A38
?:21'2 =
(A) (B) ©) (D) (E)
—285 284 285 385 384




Q7. Similar to problem 3, page 364
The estimation of the area under the graph of f(x) = x? from x =0 to
x = 2 using two approximating rectangles and left endpoints is

(A) (B) (® (D) (E)
5 4 3 2 1

Q8. Similar to problem 17, page 377
The integral expression of lim,_ e, Ni=;(6x7 + sinx;)Ax over the interval
[0, ] is

(A) (B) (€) (D)
f:(2x3 — cosx)dx f:(2x3 + cosx) dx fon(6x2 —sinx) dx fon(6x2 + sin x) dx
Q9. Property 8, page 375
If —1<f(x)<2 foral xe[1,3], then
(A) (B) (©) (D)
5< fff(x)dx <12 5< flgf(x)dx <6 -2 < ff’f(x)dx <4 | -6< ff flx)dx < -3
Q10. Property 5, page 374
If fzsg(x)dx =13 and f24g(x)dx =5, then ffg(x)dx =
(A) (B) (€) (D) (E)
8 -8 18 —18 9
Q11. Definition, page 340

A function G is an antiderivative of a function g on the interval (c,d) if
for all x € (c,d) we have

(A) (B) (©) (D)
f6@dx=g() | G@=90)+C| L (o) =gy | LG =g

Q12. FTC similar to example 4 page 384
4
%(flx sinhtdt) =
(A) (B) (©) (D) (E)
cosh x* —453 cosh x* 4x3 cosh x* —453 sinh x* 4x3 sinh x*




Similar to problem 29, page 388

i
(A) (B) (©) (D) (E)
10 40 34 _ 40 _ 34
3 3
Q14. Property page 373
-1
fzz smzf;x x dx =
(A) (B) (©) (D) (E)
e? 2e? 0 _1 1
e? e?
Q15. Similar to problem 60, page 407
2 tanhx dx =
f—Z xiiz X T
(A) (B) (©) (D) (E)
e?+4 2—e? e?-2 0 e?
32 32 32 32
Q16. Similar to problem 30, page 407
f cos(;nx) dx =
(A) (B) (©) (D) (E)
—sin(lnx) + C sin(lnx) + C —cos(lnx) + C cos(lnx) + C 2sin(In x) rC
x2
win ) o Jpanllagle cuni Gl ang 516 o) JIgeall 1SS 58 17 8 J sl
Q17.
f cos(;nx) dx =
(A) (B) ©) (D) (E)
—sin(lnx) + C sin(lnx) + C —cos(Inx) + C cos(Inx) + C 2sin(In x) +C
xZ
Q18. Similar to problem 18, page 406
J# sec tan6 df =
6
(A) , (B) , (©) , (D) , (E)
_ = £ —9 = £ 0
2 N 2+ N 2 N N 2
s 3 o Jpanllale cund o g 518 8, JIsull ) S5 58 19 a8 J) )
Q109.
J# sec tan6 df =
6
(A) , (B) , (©) , (D) , (E)
_ = £ i, £ 0
2 N 2+ NG 2 N NG 2




Q20.

FTC and derivative table page 256
If [f(x)dx =F(x)+C, then %(F(x) + sechx) =

(A)

f'(x) — sech x tanh x

(B)
f'(x) + sech x tanh x

(©)

f(x) — sechxtanh x

(D)
f(x) + sech x tanh x

a3 o Jpanllale cund o Gy 520 48, JIpadl ) S5 58 21 285 J) )

Q21.
If [f(x)dx =F(x)+C, then %(F(x) + sechx) =
(A) (B)
f'(x) — sech x tanh x f'(x) + sech x tanh x
(C) (D)
f(x) — sechxtanh x f(x) + sech x tanh x
Q22.
8x+2
X" dx =
f V2x2+x+7 x
(A) ) (B)
_ 4V2x2+x+7 +C
4V 252 +x+7 + C g g
(C) ) (D)
- 2V2x2+x+7 +C
2V 2x% 4 x+7 T C g g
ain ) o Jyaall agle cuat G cang 522 8 JIguall ) S5 5 23 a8 Il
Q23.
8x+2 dx =
V2x2+x+7
(A) ) (B)
- 4+/2x2 7 C
4V 2x% 4+ x+7 t C AT i
(©) ) (D)
- 2V2x2 7 C
2V 2x% +x+7 t C XExT *
Q24.
f03|4 — 4x| dx =
(A) (B) (€) (D) (E)
20 34 10 4 —-10
s 3 o Jpanllale cund o Gy 524 a8, JIsall ) S5 58 25 a8 J) )
Q25.
f03|4 — 4x| dx =
(A) (B) (€) (D) (E)
20 34 10 4 —-10




